Multiplication et Division par 10* (C)

Trouvez chaque produit ou quotient.

6,1853 ~ 10* = 6,55 x 10* =
6,861 ~ 10* = 4,74 x 10* =
7,343 = 10" = 6,142 x 10* =
9,1 x 10* = 1,2 +10' =
7,7833 x 10* = 2,8 x 10t =
2,5204 + 10 = 9,5052 =+ 10 =
8,1 x 10* = 9,3 x 10 =
9,15 x 10* = 3,3%x 10 =
8,9+ 10" = 1,978 x 10 =
3,344 + 10 = 9,735 x 10* =
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Multiplication et Division par 10* (C) Solutions

Trouvez chaque produit ou quotient.

6,1853 + 10* = 0,61853

6,861 ~ 10" = 0,6861

7,343 + 10' = 0,7343

9,1 x 10t =91

7,7833 x 10* = 77,833

2,5204 = 10* = 0,25204

8,1 x 10' =81

9,15 x 10 =91,5

8,9 ~ 10 = 0,89

3,344 + 10' = 0,3344

6,55 X 10* = 65,5

4,74 x 10 = 47,4

6,142 x 10* = 61,42

1,2+10'=0,12

2,8 x10' =28

9,5052 + 10* = 0,95052

9,3 x 10' =93

3,3x10'=33

1,978 x 10 = 19,78

9,735 x 10 =97,35
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